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QUESTION 1

C

This symbol represents what electronic circuit component?
A. power source

B. load

C. transistor

D. conductor

Correct Answer: C

QUESTION 2

The rate of electrons through a conductor is measured in units of
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A. current
B. electricity
C. volts

D. amperes

Correct Answer: D

QUESTION 3

How much power is being carried in a 220-volt circuit when the current is 10 amps?
A. 22 watts

B. 220 watts

C. 2,200 watts

D. 4,400 watts

Correct Answer: C

How much power is being carried in a 220-volt circuit when the current is 10 amps? 2,200 watts (220 volts multiplied by
10 amps = 2,200 watts).

QUESTION 4

How many volts does it take to send 99 amps of current through 99,000 ohms of resistance?
A. 0.009801 volts

B. 980.1 megavolts

C. 9.801 megavolts

D. 98.01 volts

Correct Answer: C

QUESTION 5

A resistor marked 2.5K ohms has the value of
A. 2.5 ohms

B. 250 watts

C. 2,500 ohms
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D. 25,000 ohms
Correct Answer: C

2.5K ohms is 2,500 ohms. K = one kilo or 1,000.
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